JOEKOL dSbLdL3IKIKO & (MBEITOHDBJ

‘dJ60'd36o:

L 65b5>HBI MBSO BMGIFIROS FIS®IST).

2. IBR0OL SLSL3RINIB0 LOZHRRXIS IR S IMAIVIML
LO3OMIIB) 3I68IBANL ‘dILOdSFOLOR J3IRS JNMN0)OR
30RO INIbbI.

d. 030030, ¥Y06539dR3®0T30ROL (Bd3IL0) JIKOL
3930®5RIDO FI3IMIdS

Uoros | 3a0GImo| 390G ide

LR 20 22

JEKROL SbSL3KRXIKO

3L "0DS3MBI63BIIIS0
RS IF3IBB0DbS"

2014%




dJbPbMAO dILOILRIRKRIIOL daMVIMsS

30RO 1 -1

20%o i 20%o

o[ a0 ° A Ao o
A OocA o 4 0 4 o o

AAgAAOA ob0 Aapa ©®
4,0 o0 , ©

50BII3IR0 - BHSIGNIRO KMEKO (0-4083) LOLING) 15 13

0bI35R0O 30BIF0L_IMLb3S

LOBOA0 - V3E0RBOOGERM3560 &/33BHME0L GbINO 650330 LOLAOO) 5 13

d. 030R0LI0, V06589dR3®0IF30ROL (Bo33LO) JIROL
35303 5RIB0O FI3ANAdS

Loros (@63 Fa6Emgd0

LR, 19 22

dbMIddn dabsL3KRIK0

3L "dDd3MIV63@(MIISHO
R L3I B0B"
2014%




33 0+00 38 0+10
8 Z g
124.61 S
124, 12393 123.91 123.93 [123.94
12452 124.35 22 123.76 123.86 123.78 (2290 {20
306:G035L G0 1:100 I 5 ] N 5 A
H P - <+
30E0BMEGHLIG0 1:100 ¥ —1T T o T & ¢ | 8% T @ $
P P=xe =} b
<=2 35630 Yy , 85640920 3 23907 5091199 2010
a = Je , dobc
mm 0 5.47 5.33 1,68 4.65 |4.02 123
€3 30VOL 3530L0L 60T6ALIB0 3 ] 2 5 8 52 8 e
A < <t <t o™ [eXe] @ ™D ™ ™
RS S B S m N o NN
C
=2 J0YOL 06RO 3 3 o 83 o 5 5 8 838 3 © 2 S S %5 8
53 S 3 33 3 S & ¥ I3 8 g g 3 3 g 89 g
S @ g ad o g & 9@ ggd d d d S g d9d
DA
o WO
2 8564082920 8 0.97 5.12 il 2.40 2.01 1.03 | 0.91 4060 0.74 2.50 3.10 2.78 143 | 1.06 [ |06t
33 0420 33 0430
o 3 2 2 I8 2 e o 2 ° e
123.37 | 123.35 10390 123.28 12320 123.35 [123.36  122.72 | 122.70 40055 122.63 Sm.ﬁrm.wo 122.71
396G0352IA0 1:100 5 o) X L|J 7
IMBOBOEESDIAG0 1:100 & ——T— = 9l e di
& ® S[3 Q @ &
=< 4560930 %y . 85640520 B 10.0 [20.0 20.0 [ 100 10.0 [20.0 20.0 [ 100
) 1.92 40 |4.00 108 192 4.00 [4.00 %
€3 30VOL 3530L0L 60F6ALIB0 B = 8 < W 8 n o 2 8e =
A E e) el e) Iele) ) o~ INE o~ INEN o~
RS N N N do N N N gy o
C
€8 dOVOL 6OTEIEIL0 3 N33 SR Rk & ¥ 8 83 3 B B
£ S oo S © So 8 N N 9o 299 N o o
S 3 SR 9 N N N ! !
DA
=D
S| 90bd0RI0 D 100 s 5,64 0.95 373 4 oz 100 103 | 110 pi 345 454 138
33 0+40 39 M LLM30I
(=2] o > % ™ I~
= S8 g SIS D - ®IHBOLOBOIG0 dATEB0, bOTIMBI6-LOGLMB560 0.5-02558 LOLAOL FLSLIBO0)
12199] 121.97 1575 121,91 o1 g3 1219812199 65/55 11 115 P=1.758/b3% §=25° C=0.630d/L3% Ro=4.0350/68% BEo=40030d/L3%;
: v : ER=3500330/L8;
89650352960 1100 - 3 - 20MBIBAG0 M0bESGIB0, L0S FS30LBIM0, @HOLILILBGOITA0 LOIGLOL Rd d3I30b BS6SGHNIB00)
0/ 9. Q¢ . < Q 15. P= a1.93. r=72°. (= p Q3. = p Q2. — p Q2.
HOEOBOEGSEIN0 1100 1 —— %,\u %wm%mw&%a I LL5; P=1.758/L8%; ¢=23°; C=0.1033d/L3% Ro=3.033d/Ld% Eo=250300/L3%
52 356050 % , 85690820 9 001200 20.0 1100
22 124 417 [3.83 13
€2 30Y0L 353060 60F6I2IB0 3 = 5 = 28
- 4. 0300190, V0659dR36%0F30R0L (H53I0) JIBOL
m = 90Y0L 60969930 § 2 3 > S © 3 3330B3RIBH(O 43330)3dd
as] - - — - < - -
W % N o o oo o o boos [gaBGamo | gatcegdo
& n
= O ‘ a0
> 956d05080 9 100| 111 432 061 3.02 234 386080 3@MBOLIS0 bR 2 | =
3L "dbS3MII63D(MIIBH0

8 1:100

RS 33L3IBBOBLS"
2014%




BSIB0DG0 | LO3HMIIB()
80965693950 | A65GIFIB0
w
@ o = || 28
& 2 3 % 322
< S S 3 2
2 & & = <2
E o co = A
= 2 T |l = & F
= S 3 8 T g
@ = = . VERRS)
VE = ® < =
&
(o))
119.26 -
©
= 5
2 119.42
o 0.15
119.26 ©
2 >
119.39 2 @
119.24 — T 0.15
S S
~
o
S
=\
11921 [119.32 = | 0.1
o | ®
>~
S
S 2
o N
——119.17  [119.24 — . 0.07
11915 [119.39 S ©0.22
({e]
-
N N
11926 |11941 = 016
- 3
o SN
o —_
119.20 S

0L+0 ©¢

00I'T OYRBCRIVBOPWE
00I'T OPER.SCLORYEH

<>}
D
P

©0.08

— 0.36

BIBODG0 | LO3GHMIISHM
9M65GI9930 | 065GIIIB0
(o] (o)) (o)) (&N
Y% =} o) C
S I R =
3 2 = =
E - - >
= 2 % =
S o & g
@ ) = .
JE! = @
[al] V%
¥} fea) loal
S - &
@ = b
[ab) (o))
&
[ob)
12040 12040 —
N
&
o
S
120.40
>
S
120.14
[\
& 8
w
120.16 S
120.06 <
N
S
119.90 o
S S
11987 12023 |
—_ o
N S
S
119.81
R
——1119.86
= 1119.92
S S
119.92 S
- 12015 [
=2 &
120.02
2
120.03
w
S
119.88
%
119.88
w
= =
=
& 119.88
119.88

- 0.20
N

BSIB0IH0 LO3®HMIIS (M)
3(M6533J3380 | 3M6HGIFIH0
w D
o)) (o} o} (&N 3 o}
& 2 =) & = 2
g = = o G
=3 S S 2 —
S 8| 22| 22
VE . o S CY;
I~ 2 & o QN3
S X! & S CI
a 2 N 32
@ < s - B3
El = |g| £z
z 2 | 2] =8
5 s 2 —
|2
=
(o))
R
121.23 i
121.20 o 001
- N
S
120.96 S =
121.18 e 0.08
N
N 121.03 S = 023
S 8
120.90
N |
N
} |
w
8
120.76 121.11 f —~ 0.35
o Py | N
R S N
120.70 -
S,
ol
" |
x
N R
= o
121.03 — _. 0.06
12118 |23 020
121.03 = >
121.19 —

2 =019
- 3
120.92 —

(93
o
(e
+
D
(e

0S+0 ©¢




08+0 ¢¢

7 0 | LS3EMAIB) v A
5}{3)%(?&?&60 e G50 g(%%‘fgg;&o 3(5)3605(()]]3(?)}:()) BSIG0IG0 | LO3GMIIE)
— ‘ OBJ 80965393950 | IM65GIFIB0
w @ w %
- - ~ = o N ~ = b4 N
g % S |1 Zz| = 2 g 2 g 1e| 22X @ @ 2 || 3 %
% 3 3 3 2 g = = A > & & = = & 2
:> 2 S 3 F 2 S S 3 > g : = = > &
e =~ | 2| 2¢ 2| S 12| £¢ S| 2| 2 |2 232
S A & - S N L o o = = % VE! . 3 <>
> % = = G i~ =) 2 o L )3 ) Q &Y QR
) & g A S ¥ 9 S I & 2 & o Go 7;
& = AC) A - = Y = 3 S S cs
= = |- | B2 | 2| £ |- | B3 S| 2|7 ] %2
El = 2] 5z E| 2 |z| €2 = E | 2 |=]| E3
& = a >3 & oa & 2= S - & 3=
R - = | £ |E|E > 2 =] Z°
e = (=} c3 = = ob] 9‘; E =
ZE o VE = < 7: - S
b o (o)) S -
= & < @
N N N
115.21 = 116.84 - 118.64 N
- : 11684 — 2 2 &
) ke 2 |iios £ 1853 | &
1517 11485 5 6:32 = : 11668 15 0.04 118.46 ~ x 0.05
~ >» : -
R S 116,63 = & -
R 118.27
11483 S| 02 | | - = = 2
' o [ VT = > 118.20 118.33 ®
=2 < oanz [ 52 : N - 013
o S > < P
S o = o @
&
R
| | § |
s !7 4 | S |
N4 ~ S
M489 1476 o 3 | & —11800 |11841 = | L 041
o >~ + = B | —
S | 3 3 116.48 116.59 = | —~0.10 T 117.98 = =)
: . : ~
) S ol & S a | =
o| 9| 9|
®
o —
- 3 2 B, z e =
114.68 bl AP P o = ~ S w
| sl TR 116.47 S = 118.33 = - 01
114.83 = & N - 116.51 — e~ 003 118.48 = & 0.29
= 1666 |\ = 5 0.18 e
116.48 S
N
11470 [11486 |& ~ 5 0.17
=—11473  ||14 05 =S N ——11833  [118.50 =
114.76 S = >
tes1 | 0% B o = 1118.30 :l &
N 116.78 > 0.27 118.28
S 2
116.45 — = 117.83 3
= 115.72 _ 7m
—— 11550 S a4 [11759 |5 = 0.20
-5' oann 17.31 % .
115.68 115.68 > .
2 X
=—115.67 .
——115.70 - = ~ 0,27
= 117.57 S o
- 115.64 o % 11742 — 012
~ 115.60 — 565 0.02 S 2
115.60 X T > © N
o |
~ | |
| .
~ 3 |
= | % 1728|1750 |— 1022
11546  [115.68 022 — S | =
g | o =+ < © @
. =) o8 s ol
: © : |
115.38 |
R 117.26 r ~
N S o g t
S = B 015 117.42 — L, 0.12
115.60 — S o 117.57 2 X027
115.75 S &0.29 % !
o
—1115.49 —
& N
——|11560 g =—1{117.43 £ 0.17
; ! 11742 |117.59 -
&8 115,50 11577 |3 0.18 - =
= ' = o 3N
= ~

115.60

06+0 ©¢




BOIBOIG0 | Ld3GMIIH)
8MBSGIIBO | HMESGINIB0
; R U
g S S S| 3%
N = = & &
[o®) =) =) = 2
2 = = = e 2
VE - o S I
i~ 2 9% = 4 f:‘(
S = S ls | £
3 2 < 3
@ = S . VERRS
El 2 g 5z
5| 2 |2 =8
ﬁ - S
o ob
&
(o)
11051 R
= S
= ] |5
1042 141076 |2 L 0.32
. 110.74 - =
. 0.24
110.35 = -
()]
(=}
£ |
’ |
=\ |
o
1055 [11067 | L 0.12
R = =
S e |
110.63 i
o |z
o 110.59 — . 0,03
= 110.74 S 2
= .
)
1077 |2 0.02
110.79 AN
~ 11087 = 008
o 3
= ~
110.70

0L+T €€

BSIGOIH0 | LO3OMIIS)
8965693930 | 365GIII0
G X
on} [oh) o)) (&N 3 jabo]
92 2 =) & = 2
=y = = o) &
< ) ) 3 2
% & = 2| £¢8
S| 2 1= %
— & S 8 T g
@ = = . JERRS
L = le| €=
IS Q =3 >3
s L 2
3 < <
-
=
[ob}
112.03 -
o N
S 112.32 I 015
112.17 —
S 11222 |2 / . 0.05
= 112.13 2 >
< 1112.11 112.21 S ere—= _\A 0.10
112.06 S N
- S
N
112.02 |
= - |
o
w
11208 11214 1 K012 &
112,03 = N2 -
S
S
w
% |
= S
o o
112.01 112.06 — 2~ 0.05
2 w2
112.10
S 5
N 11224 | 0.14
1210 |112.34 = 024
X
111.02 —
8 11156 = 0.26
— 8 11146 = = 0.16
= {11129 [11145 K— 2l o1
= 111.30 S E 0.16
8 S
111.24
<
N
111.25 |
s |
o
o
125 (1138 NI
8 |@ = =
+
o| g
e
< o =
o =
111.30 - s T’:o.03
11145 = =018
()]
— 1127
=1111.31 w
=—(111.32  |[11148 |S 0.16
11.32 {11158 = 0.26
~

BoIBOIH0 | LO3HMIIH)
3M65GIFIBO | AM65GIFIB0
, . w8
g 3 g 1e] 2%
=y < <= =2 G
N 3 S 3 2
=) = = = foxg 8
VE - o ) CIR
& 2 < =) = 73
& 3 S o= G 3
S [op] jo < v X
@ & = y JERRS)
VE = @ < -
g = | £ 25
=) 2 < S
@ S | =
cs bl o
= o S
=
on}
114.05 =
= 3
2 |ijags | 11403 1 0.15
a5 |11893 |22 < 0.05
' 113.92 — 607115 0,08
N -
113.77 = =
o
3
.
s \ |
11374 11385 (= = 0.12
- s /I |4l
z S|
113.70 ®}
N
5 —~
13,77 S =
b ~
. S 3
377 1113.92 — 688K 0.15
o w
= ©
) N
&
g
1394 | :
B N S 0
2 114.04 = 0.13
113.85 — ¥
113.05 ] -
S
o
1302 5 0:06— <"
8
w
e
o =
112.94 S =
112.91 112.89 —r o2& 0.03
o -
o g
&
5 |
) |
s\
S
1295 11297 (= - 0.01
N o |@ o
h o ©
3 o |~
112.97 |
w e
N N %
o
112.89 —1-0-89—4<_. 0.06
113.04 S >
< R
112.98
> N
2 ~
11208 |11306 |& 008
11296 111316 o 018
S

0+l o€

o+l ¢




BoIBNID0

LO3H(MIIB (M)

00+C ©¢

01+¢ ¢¢

) bos@LIde B5IG0IG0 | LO3AMIIE)
365693930 | 306563950 O I P
Cw D ~
2 g 21| % 2| s |e| 28
g = = 2 > & < 2 = & N <3§o
il S| ¢ | 2| £¢ 22 2|2 2¢
S 3 2 | 2| 2% ! o < | 2| %
| 2| £ || B3 S 2 27| %2
& < g % = g = ® I,
S| Z || C¢8 | 22|25
|| S = | 5| 8
g |~ S | @
= ;
=
oo N
=—1108.43 o o 10905 S
10843 (10843 | 860 =2 |oas S
o 05
© R 10903 [ 0.02
.% o
109.00
&
> 108.94 2
S o 108.99 = &
2 S 3
10890 [10884 | ——rees==%) 0.10
N N
= o S
8 R
108.84 |
———1108.24 =
——1108.22 ® |
——108.81 ~ i
g o
2110884 10892 |— i 0,08
w = =
S ) ®| >
o
108.92
108.08
. : . e
2 8 108.84 — o 0,03
108.99 S E
o ©
(e}
107.90 -
108.98  [109.01 | 0.01
R 8
= 2
o 109.03 =
5 N 108.60 N
“ & |.9' = &
o ~ o [3)]
107.77 — T = 10s60 10850 | ol
S N
107.83 < . ~
>
108.48
> =
» & 8 N
v 108.40 2 &
S 108.46 S =
108.31 —-o67- - 0.08
o o &
] w < w
107.83  [107.88 | ﬁAo.os S
> S
= 3
o 108.30 i
107.83 ® ~ |
N
. 3 10830 10839 | i - 0,09
N = 5 =
& 107,68 = 0.1 e | ¢
s g
AN © |
z |78 Ly |& 701
- 107.84 B |
= liors s &
' 108.31 S =
108.46 — 6068 0.09
g o)
> 5
10848 |3 0.08
——108.40 = —
2 110842 S

BSIBOAG0 | LO3HMIIBHM
9MESGIFIBO | AM6SGIFIB0
& 2 2 | 5] 22
& g = = > &
= = = = e 2
JE - o S 2
I~ = & o X )@
3 g S s | &g
o| ¢ s |- 73
VE = S <
> 3 3 -
“ 2| E] 8
JE e
) oV
=
2
o}
110.03
= B
1007440 41 = 0,05
= |.6‘
N 110.10 —-6-42-d1S 0.03
© 109.95 S 2
&
110.08
N
;'
b
8
1001 11003 [ ~ 002
o o
o o
) w
3
109.96
o . 3
& 109.95 S
110.10 — - 007
2 o
110.06 \° =
R 11012 | 0.11
8 110.22 ’ 2 021
S
109.94
109.51 ~
= 3
2 &
109.48
2 10955 [N 0.07
——109.46 3
—=—1109.45
——1109.43 R
= 2
109.52 = &
= 109.37 g, 0.11
o ’8 =
< %
109.39
N
&
b
8
10936 [109.45 (= . 0.09
z o
= ©
&
o
N
S =
< w
100.37 = oY 0,01
10952 S 3
o o
R N
109.56 140954 | 0.04
o S
= ©
—=—1109.40 &
109.38

08+ ¢¢

06+l €¢




	etlis asasvleli
	ezosi sesasvlelebi cinamdzg
	ganivi-1
	ganivi-2
	ganivi-3
	ganivi-4
	ganivi-5

